

---

MARTIN–LUTHER–UNIVERSITÄT  
HALLE–WITTENBERG  
INSTITUT FÜR MATHEMATIK



---

Maxima for the expectation of the lifetime of  
a Brownian motion in the ball

Bodo Dittmar

Report No. 03 (2010)

---

**Editors:**

Professors of the Institute for Mathematics, Martin-Luther-University Halle-Wittenberg.

**Electronic version:** see <http://www2.mathematik.uni-halle.de/institut/reports/>

# Maxima for the expectation of the lifetime of a Brownian motion in the ball

Bodo Dittmar

Report No. 03 (2010)

Prof. Dr. Bodo Dittmar  
Martin-Luther-Universität Halle-Wittenberg  
Naturwissenschaftliche Fakultät III  
Institut für Mathematik  
Theodor-Lieser-Str. 5  
D-06120 Halle/Saale, Germany  
Email: [bodo.dittmar@mathematik.uni-halle.de](mailto:bodo.dittmar@mathematik.uni-halle.de)



# Maxima for the expectation of the lifetime of a Brownian motion in the ball

Bodo Dittmar

FB Mathematik, Martin-Luther-Universität Halle-Wittenberg, D-06099 Halle (Saale)  
E-mail: bodo.dittmar@mathematik.uni-halle.de

## Abstract

Let  $G_B(x, y)$  be the Green's function of the unit ball in  $R^3$  and  $\Gamma_B(x, y) = \int_B G_B(x, z)G_B(z, y)dz$  the iterated Green's function.

$$E_x^y = \frac{\Gamma_B(x, y)}{G_B(x, y)}$$

is the expectation of the lifetime of a Brownian motion in  $B$ . The aim of the paper is to prove

$$\sup_{x \in \partial B, y \in B} E_y^x = \sup_{x, y \in \partial B} E_y^x = E_{-x_0}^{x_0} = 2\pi - 6, x_0 \in \partial B$$

and the maximum occurs if and only if  $x_0, y_0$  are diametrically opposite points on the sphere.

## 1 Introduction

Let  $G_B(x, y)$  be the Green's function of the Laplacian of the domain  $B$  with zero Dirichlet boundary condition and

$$\Gamma_B(x, y) = \int_B G_B(x, z)G_B(z, y)dz \quad (1)$$

the iterated Green's function, which is one of the Green's functions of the biharmonic equation. The expectation of the lifetime of a Brownian motion in  $B$ , starting in  $x$ , conditioned to converge to and to be stopped at  $y$  and to be killed on exiting  $B$  is known to be equal [1, 3]

$$E_x^y = \frac{\Gamma_B(x, y)}{G_B(x, y)}. \quad (2)$$

For simply connected plane domains  $B$  it was proven by Griffin, McConnell and Verchota [7] there is no maximum of  $E_\zeta^z$  if  $z \in B$  and  $\zeta \in \partial B$  and in the case of the unit disk the maximum occurs if and only if  $z$  and  $\zeta$  are diametrically opposite on  $\partial B$ . For the unit disk  $D$  it is proven by Dall'acqua, Grunau and Sweers [4] and later by the author [6] there is no maximum for  $z, \zeta \in D$ . For more details of this problem and closely related problems compare [7, 8]. The purpose of this paper is to deal with the case of the ball  $B$  in  $R^3$ .

Using a maximum principle Dall'acqua [5] proved that the maximum has been attained for opposite boundary points. We will prove without any maximum principle

$$\sup_{x \in \partial B, y \in B} E_y^x = \sup_{x, y \in \partial B} E_y^x = E_{-x_0}^{x_0} = 2\pi - 6 = 0.2831\dots, x_0 \in \partial B$$

and the maximum has been attained if and only if  $x$  and  $y$  are diametrically opposite points on the sphere.

The author wishes to express his gratitude to Volker Pluschke for many calculations with Mathematica.

## 2 Notations and preliminary material

As usual  $R^3$  denotes Euclidean space, a typical point in this being  $x = (x_1, x_2, x_3)$  with  $|x| = (x_1^2 + x_2^2 + x_3^2)^{1/2}$ . The standard basis of  $R^3$  is  $e_1, e_2, e_3$  where, for example  $e_1 = (1, 0, 0)$ . For two points  $x, y$  we use the notation  $x \circ y = \sum_1^3 x_j y_j$ . Let  $B_r = \{x \in R^3 : |x| < r\}$  and for shortness we write  $B$  for the unit ball  $B_1$ . Furthermore we have

$$G_B(x, y) = \frac{1}{4\pi} \left( \frac{1}{|x - y|} - \frac{1}{|y|} \frac{1}{|x - y^*|} \right) \quad (3)$$

the Green's function of  $B$ , where  $y^* = y/|y|^2$ .

We need the following versions of the well-known Poisson formula [9]

**Lemma 1** *For a harmonic function  $u$  inside of the ball  $B_r$  with the boundary values  $u(|z| = r)$  the following Poisson formula holds*

$$u(x) = \frac{1}{4\pi} \int_{|z|=r} \frac{r^2 - |x|^2}{r|x - z|^3} u(z) dO_z,$$

where  $|x| < r$ .

An analogous Poisson formula holds for the exterior  $A_r$  of the ball  $B_r$  with  $A_r = R^3 \setminus \overline{B_r}$

**Lemma 2** *If  $u$  is a harmonic function in  $A_r$  with the boundary values  $u(|z| = r)$  then*

$$u(x) = \frac{1}{4\pi} \int_{|z|=r} \frac{|x|^2 - r^2}{r|x - z|^3} u(z) dO_z,$$

where  $|x| > r$ .

In the case of the disc in the plane we have the following Poisson formula

**Lemma 3** *Let  $u$  be a harmonic function in the plane domain  $\{z : |z| > r\}$ , then*

$$\frac{1}{2\pi} \int_0^{2\pi} u(|z| = r) \frac{1 - r^2}{|re^{i\theta} - \zeta_1|^2} d\theta = u(\zeta_1).$$

The following lemma will be helpful in some cases.

**Lemma 4** *If  $x_o, y \in B_1$  with  $|x_o| = 1, 0 < |y| \leq 1$ , and  $0 \leq r < 1$  then*

$$\frac{(1 - |y|)^2}{|y|^2(1 - r^2|y|)^2} \leq \frac{|x_o - y|^2}{|x_o r^2 |y|^2 - y|^2} \leq \frac{(1 + |y|)^2}{|y|^2(1 + r^2|y|)^2}. \quad (4)$$

*Equality occurs if and only if in the right  $y = -x_o|y|$  and in the left  $y = x_o|y|$ .*

**Proof.** It follows with  $y \circ x_o = |y| \cos \alpha$ , where  $\alpha = \angle(x_o, y)$

$$\frac{|x_o - y|^2}{|x_o r^2 |y|^2 - y|^2} = \frac{1 + |y|^2 - 2|y| \cos \alpha}{|y|^2 + r^4 |y|^4 - 2|y|^3 r^2 \cos \alpha} = f(r, |y|, \alpha)$$

and after a simple calculation

$$\frac{df}{d\alpha} = \frac{2|y|^3 \sin \alpha (1 - r^2)(1 - |y|^2 r^2)}{(|y|^2 + r^4 |y|^4 - 2|y|^3 r^2 \cos \alpha)^2} = \frac{2|y|^3 \sin \alpha (1 - r^2)(1 - |y|^2 r^2)}{|x_o r^2 |y|^2 - y|^4}. \quad (5)$$

It follows  $\frac{df}{d\alpha} = 0$  if and only if  $\sin \alpha = 0$  from which the desired result follows because

$$\frac{1 - |y|}{|y|(1 - r^2|y|)} < \frac{1 + |y|}{|y|(1 + r^2|y|)}.$$

### 3 The expectation for the lifetime on the boundary

First we want to calculate the expectation for the lifetime for the case that one point is on the boundary. Let  $x_o, y, |y| < 1 = |x_o|$  be given. The first step is to calculate

$$\frac{\partial G_B(x_o, y)}{\partial r},$$

on the boundary, where  $r = |x|$ .

$$\frac{\partial}{\partial r} \frac{1}{|x - y|} = \frac{|y| \cos \alpha - 1}{|x - y|^3}, \quad \frac{\partial}{\partial r} \frac{1}{|x - y^*|} = \frac{|y|^2 (\cos \alpha - |y|)}{|x - y|^3}, \quad (6)$$

where we have used

$$|x - y^*|^3 = \frac{|x - y|^3}{|y|^3},$$

for  $|x| = 1$ . Putting all these together, we obtain

$$\frac{\partial G_B(x_o, y)}{\partial r} = \frac{1}{4\pi} \frac{-1 + |y|^2}{|x_o - y|^3}.$$

We evaluate

$$\lim_{x \rightarrow x_o} E_x^y = \lim_{x \rightarrow x_o} \frac{\int_B G_B(x, z) G_B(z, y) dV_z}{G_B(x, y)}.$$

For that reason we use

$$\lim_{x \rightarrow x_o} \frac{G_B(x, z)}{G_B(x, y)} = \frac{-\frac{\partial}{\partial r} G_B(x_o, z)}{-\frac{\partial}{\partial r} G_B(x_o, y)} = \frac{|z|^2 - 1}{|y|^2 - 1} \frac{|x_o - y|^3}{|x_o - z|^3}$$

and it follows

$$E_{x_o}^y = \frac{|x_o - y|^3}{1 - |y|^2} \int_B \frac{1 - |z|^2}{|x_o - z|^3} G_B(z, y) dV_z. \quad (7)$$

Now we want to deal with the case that also  $y$  tends to the boundary. We see easily

$$\lim_{y \rightarrow y_o} \frac{G_B(z, y)}{1 - |y|^2} = \frac{1}{2} \lim_{y \rightarrow y_o} \frac{G_B(z, y)}{1 - |y|} = \frac{1}{8\pi} \frac{1 - |z|^2}{|z - y_o|^3}.$$

It follows immediately for  $|y_o| = 1$

$$\lim_{y \rightarrow y_o} E_{x_o}^y = \frac{|x_o - y_o|^3}{8\pi} \int_B \frac{(1 - |z|^2)^2}{|x_o - z|^3 |y_o - z|^3} dV_z. \quad (8)$$

Now we are able to prove the first theorem.

**Theorem 1** *If  $x_o, y_o \in \partial B$ , then*

$$E_{x_o}^{y_o} \leq E_{x_1}^{y_1} = 4 \int_0^1 r^2 \frac{1 - r^2}{(1 + r^2)^2} dr = 2\pi - 6 = 0.2831\dots,$$

where  $x_1 = e_1$  and  $y_1 = -e_1$ . Equality occurs if and only if  $x_o, y_o$  is a rotation of  $e_1, -e_1$ .

**Proof** We have with (8)

$$\begin{aligned} E_{x_o}^{y_o} &= \frac{|x_o - y_o|^3}{8\pi} \int_B \frac{(1 - |z|^2)^2}{|x_o - z|^3 |y_o - z|^3} dV_z = \\ &= \frac{|x_o - y_o|^3}{8\pi} \int_0^1 (1 - r^2)^2 \left( \int_{|z|=r} \frac{dO_z}{|x_o - z|^3 |y_o - z|^3} \right) dr = \\ &= \frac{|x_o - y_o|^3}{2} \int_0^1 \frac{r^2 (1 - r^4) dr}{|y_o - x_o r^2|^3}, \end{aligned} \quad (9)$$

where we have used

$$\frac{1}{4\pi} \int_{|z|=r} \frac{dO_z}{|x_o - z|^3 |y_o - z|^3} = r^2 \frac{(1 + r^2)}{(1 - r^2)} \frac{1}{|y_o - x_o r^2|^3},$$

which follows from Lemma 2 with  $u(z) = \frac{|z|^2 - r^4}{|z - x_o r^2|^3}$ ,  $|z| > r$ ,  $r < 1$ . It is easy to check that  $u$  is harmonic for  $|z| > r$  and it holds  $u(|z| = r) = \frac{1 - r^2}{r|z - x_o|^3}$ . We have with (9)

$$E_{x_o}^{y_o} = \frac{|x_o - y_o|^3}{2} \int_0^1 \frac{r^2 (1 - r^4) dr}{|y_o - x_o r^2|^3}.$$

The proof is a straightforward consequence of the inequality

$$\frac{|x_o - y_o|^3}{|y_o - x_o r^2|^3} \leq \frac{8}{(1 + r^2)^3}, \quad (10)$$

which follows from Lemma 4 and equality holds if and only if  $x_o \circ y_o = -1$ . These yields

$$E_{x_o}^{y_o} \leq 4 \int_0^1 r^2 \frac{1 - r^2}{(1 + r^2)^2} dr = E_{x_1}^{y_1}.$$



## 4 One point lying on the boundary

What we want to prove is the following formula for the expectation of the lifetime if one point lies on the boundary.

**Lemma 5** *Let  $|y| < 1 = |x_o|$  then*

$$E_{x_o}^y = \frac{|x_o - y|^2}{2} - |x_o - y|^3 |y| \int_0^1 \frac{r^2 dr}{|y - x_o r^2| |y|^2}. \quad (11)$$

**Proof** First we invoke formula (7)

$$E_{x_o}^y = \frac{|x_o - y|^3}{1 - |y|^2} \int_B \frac{1 - |z|^2}{|x_o - z|^3} G_B(z, y) dV_z.$$

A glance at (3) shows that we have to evaluate

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z, \quad (12)$$

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y^*|} dO_z, \quad (13)$$

for  $0 < r < 1$ . For the second integral we obtain using Lemma 2 with the harmonic function  $|z - y^*|^{-1}$

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y^*|} dO_z = \int_{|z|=r} r^3 \frac{(1 - |z|^2)}{|r^2 x_o - z|^3 |z - y^*|} dO_z = \frac{4\pi r^2}{|r^2 x_o - y^*|},$$

where we have used

$$|x_o - z|^3 = |x_o r^2 - z|^3 r^{-3}, \quad |z| = r. \quad (14)$$

Consider the first integral

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z.$$

If  $|z| > |y|$  we obtain using Lemma 2 with the harmonic function  $|z - y|^{-1}$

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z = r \frac{4\pi}{|x_o - y|}.$$

For  $|z| < |y|$  it follows with Lemma 1 using the harmonic function  $|z - y|^{-1}$  and (14)

$$\int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z = \int_{|z|=r} \frac{r^3(1 - r^2)}{|z - x_o r^2| |z - y|} dO_z = r^2 \frac{4\pi}{|y - x_o r^2|}.$$

Putting all these together we get

$$E_{x_o}^y = \frac{|x_o - y|^3}{1 - |y|^2} \int_B \frac{1 - |z|^2}{|x_o - z|^3} G_B(z, y) dV_z =$$

$$\begin{aligned}
& \frac{1}{4\pi} \frac{|x_o - y|^3}{1 - |y|^2} \int_0^{|y|} \left( \int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z \right) dr + \\
& \frac{1}{4\pi} \frac{|x_o - y|^3}{1 - |y|^2} \int_{|y|}^1 \left( \int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y|} dO_z \right) dr \\
& - \frac{1}{4\pi} \frac{|x_o - y|^3}{1 - |y|^2} \int_0^1 \frac{1}{|y|} \left( \int_{|z|=r} \frac{(1 - |z|^2)}{|x_o - z|^3 |z - y^*|} dO_z \right) dr = \\
& \frac{|x_o - y|^3}{1 - |y|^2} \left( \frac{1}{2} \frac{(1 - |y|^2)}{|x_o - y|} + \int_0^{|y|} \frac{r^2}{|x_o r^2 - y|} dr - \frac{1}{|y|} \int_0^1 \frac{r^2}{|x_o r^2 - y^*|} dr \right).
\end{aligned} \tag{15}$$

The desired result follows with

$$\int_0^{|y|} \frac{r^2}{|x_o r^2 - y|} dr - \frac{1}{|y|} \int_0^1 \frac{r^2}{|x_o r^2 - y^*|} dr = |y|(|y|^2 - 1) \int_0^1 \frac{r^2}{|y - x_o r^2 |y|^2|} dr$$

which is due to

$$\int_0^{|y|} \frac{r^2}{|x_o r^2 - y|} dr = |y|^3 \int_0^1 \frac{r^2}{|y - x_o r^2 |y|^2|} dr$$

and

$$-\frac{1}{|y|} \int_0^1 \frac{r^2 dr}{|x_o r^2 - y^*|} = -|y| \int_0^1 \frac{r^2 dr}{|x_o r^2 |y|^2 - y|}.$$

As a first conclusion we obtain the following lemma, which we need later.

**Lemma 6** *If  $x_o, y \in B_1$  with  $|x_o| = 1, |y| < 1$ , then*

$$E_{x_o|y}^{x_o} < E_{-x_o|y}^{x_o}$$

**Proof.** For fixed  $|y|$  we have only to show that

$$l(|y|) = -2|y| - (1 - |y|)^2 \int_0^1 \frac{1 - |y|}{1 - r^2|y|} r^2 dr + (1 + |y|)^2 \int_0^1 \frac{1 + |y|}{1 + r^2|y|} r^2 dr < 0.$$

We obtain for the left

$$-2|y| + (1 + |y|^2) \int_0^1 \frac{2|y|(1 - r^2)}{1 - r^4|y|^2} r^2 dr + 2|y| \int_0^1 \frac{2 - 2r^2|y|^2}{1 - r^4|y|^2} r^2 dr$$

With  $l(|y|) = |y|l_1(|y|), t = |y|^2$ , and

$$l_1(t) = -2 + 2(1 + t) \int_0^1 \frac{(1 - r^2)}{1 - r^4 t} r^2 dr + 4 \int_0^1 \frac{1 - tr^2}{1 - tr^4} r^2 dr \tag{16}$$

we get

$$\frac{dl_1(t)}{dt} = \int_0^1 \frac{2r^2(1 - r^2)(1 - r^2)^2}{(1 - r^4 t)^2} dr > 0.$$

It follows

$$l_1(t) \leq l_1(1) = -2 + 8 \int_0^1 \frac{r^2}{1+r^2} dr = 6 - 2\pi < 0,$$

which establishes the assertion of the lemma.

**Lemma 7** *Let  $g(t) = 1/2 - (1+t) \int_0^1 \frac{r^2 dr}{1+r^2 t}$  be then  $g'(t) + g(t) > 0$  for  $0 < t < 1$ .*

**Proof.** We first compute

$$\begin{aligned} g(t) &= \frac{1}{2} - \frac{1+t}{t} \left(1 - \frac{\arctan \sqrt{t}}{\sqrt{t}}\right), \\ g'(t) &= \frac{1}{2t^2} \left(3 - (3+t) \frac{\arctan \sqrt{t}}{\sqrt{t}}\right), \\ g'(t) + g(t) &= \frac{(1-t)}{2t^2} \left((t+3) - (2t+3) \frac{\arctan \sqrt{t}}{\sqrt{t}}\right). \end{aligned} \quad (17)$$

Let

$$H(t) = \arctan \sqrt{t} - \sqrt{t} \frac{t+3}{2t+3}$$

be then  $H'(t) < 0$  and  $H(0) = 0$  and it follows  $H(t) < 0$  for  $0 < t < 1$  which proves the desired assertion.

Using this lemma we deduce the following corollary.

**Corollary 1**  *$E_{-x_o|y}^{x_o}$  is a strictly monotone increasing function of  $|y|$  for  $|y| < 1 = |x_o|$ , especially  $E_{-x_o|y}^{x_o} < E_{-e_1}^{e_1} = 2\pi - 6$ .*

**Proof.** We have

$$E_{-x_o|y}^{x_o} = (1+|y|)^2 \left( \frac{1}{2} - (1+|y|) \int_0^1 \frac{r^2 dr}{1+r^2|y|} \right) = (1+|y|)^2 g(|y|)$$

and it follows with Lemma 7

$$\frac{dE_{-x_o|y}^{x_o}}{d|y|} = f'g + fg' \geq g(f' - f) = g(1 - |y|^2) > 0$$

with  $f = (1+|y|)^2$ .

Before we prove the main result of this chapter we need the following

**Lemma 8** *For  $0 < t < 1$  the following holds*

$$\frac{1}{2} \int_0^1 \frac{(1-t^2 r^2)(1+t)^3}{(1+r^2 t)^3} (r^2 - r^4) dr - (1+t)^2 g(t) < 0.$$

**Proof.** We first prove the inequality for  $0 < t \leq 0.25$ . For the left of the inequality we get

$$\begin{aligned} & \frac{1}{2} \int_0^1 \frac{(1-t^2r^2)}{(1+r^2t)^3} (r^2-r^4) dr - \frac{g(t)}{1+t} < \\ & \frac{1}{2} \int_0^1 (1-t^2r^2)(r^2-r^4) dr - \frac{1}{2(1+t)} + \int_0^1 \frac{r^2}{1+r^2t} dr < \\ & \frac{1}{2} \int_0^1 (1-t^2r^2)(r^2-r^4) dr - \frac{1}{2(1+t)} + \frac{1}{3} = \frac{6}{15} - \frac{t^2}{35} - \frac{1}{2(1+t)}. \end{aligned}$$

For  $0 < t \leq 0.25$  we have

$$\frac{6}{15} - \frac{1}{2(1+t)} \leq 0$$

which yields the assertion. Using  $(1+t)/(1+r^2t) < 2/(1+r^2)$  for  $0 < t < 1$  we get

$$\begin{aligned} & \frac{1}{2} \int_0^1 \frac{(1+t)^3(1-t^2r^2)}{(1+r^2t)^3} (r^2-r^4) dr - (1+t)^2 g(t) \leq \\ & 4 \int_0^1 \frac{(r^2-r^4)}{(1+r^2)^3} (1-t^2r^2) dr - (1+t)^2 g(t) = K(t) \end{aligned}$$

$K(t)$  is a decreasing function because  $(1+t)^2 g(t)$  is increasing which was proven in Corollary 1. An elementary calculation yields  $K(0.24) < 0$ , which completes the proof of the lemma.

Now we are in a position to prove the main result of this chapter

**Theorem 2** *If  $x_o, y \in B_1$  with  $|x_o| = 1, |y| < 1$  then for fixed  $|y|$  and fixed  $x_o$*

$$\max_{|y|=s} E_y^{x_o} = E_{-x_o s}^{x_o}$$

*and equality occurs if and only if  $y = -x_o s$ .*

**Proof.** We have with Lemma 5,  $|y| = s$ ,

$$E_{x_o}^y = |x_o - y|^2 \left( \frac{1}{2} - |y| \int_0^1 \frac{|x_o - y|r^2}{|y - x_o r^2| |y|^2} dr \right)$$

and obtain with  $\alpha = \angle(x_o, y)$  using (5) the necessary condition

$$\begin{aligned} & \frac{dE_y^{x_o}}{d\alpha} = 2|y| \sin \alpha \left( \frac{1}{2} - |y| \int_0^1 \frac{|x_o - y|r^2}{|y - x_o r^2| |y|^2} dr \right) \\ & - \sin \alpha |x_o - y| |y| \int_0^1 \frac{|y|^3 (1-r^2)(1-|y|^2 r^2)}{|y - x_o r^2| |y|^2|^3} r^2 dr = 0. \end{aligned} \quad (18)$$

For  $\sin \alpha \neq 0$  it follows

$$\begin{aligned} E_y^{x_o} &= \frac{|y|^3}{2} \int_0^1 \frac{|x_o - y|^3}{|y - x_o r^2| |y|^2|^3} (1-r^2)(1-|y|^2 r^2) r^2 dr \leq \\ & \frac{(1+|y|)^3}{2} \int_0^1 \frac{(1-|y|^2 r^2)}{(1+r^2|y|)^3} (r^2-r^4) dr, \end{aligned} \quad (19)$$

where the last inequality follows with Lemma 4. We see

$$\begin{aligned} & \frac{(1+|y|)^3}{2} \int_0^1 \frac{(1-|y|^2 r^2)}{1+r^2|y|^3} (r^2-r^4) dr < \\ E_{x_o}^{-x_o|y|} &= (1+|y|)^2 \left( \frac{1}{2} - \int_0^1 \frac{(1+|y|)r^2}{1+r^2|y|} dr \right). \end{aligned}$$

This is a consequence of

$$\frac{(1+|y|)^3}{2} \int_0^1 \frac{1-|y|^2 r^2}{(1+|y|r^2)^3} (r^2-r^4) dr - (1+|y|)^2 g(|y|) < 0,$$

which follows with Lemma 8. The necessary condition is satisfied for  $\sin \alpha = 0$  and if are there other points  $\zeta_1, \zeta_2$  then in these points is  $E_{\zeta_1}^{\zeta_2} < E_{-x_o|y|}^{x_o}$ . Our claim follows now with Lemma 6.

## 5 The case of the unit disk

The aim of this chapter is to give a new proof for a lemma which was used in [6] for the case of the unit disk. This proof follows the context of this paper. The lemma ([6, Lemma 3.1]) is the following.

**Lemma 9** *Let  $\zeta_1 = e^{i\varphi_1}, z_1 = e^{i\varphi_2}, i^2 = -1$ , and  $0 \leq r < 1$ , then holds*

$$\frac{1}{2\pi} \int_0^{2\pi} \frac{d\vartheta}{|re^{i\vartheta} - z_1|^2 |re^{i\vartheta} - \zeta_1|^2} = \sum_0^\infty |A_n|^2 r^{2n},$$

with  $A_n = \frac{\eta^{n+1}-1}{\eta^{n+1}-\eta^{n+2}}, \eta = z_1 \zeta_1^{-1} = e^{i\varphi}$  and

$$|1-\eta|^2 \sum_0^\infty |A_n|^2 r^{2n} = \sum_0^\infty (2-2\cos(n+1)\varphi) r^{2n} \leq \frac{4}{1-r^4}. \quad (20)$$

Equality holds if and only if  $\eta = -1$  for all  $r$ .

**Proof.** First it is easy to see

$$\frac{1}{2\pi} \int_0^{2\pi} \frac{d\vartheta}{|re^{i\vartheta} - z_1|^2 |re^{i\vartheta} - \zeta_1|^2} = \frac{(1+r^2)}{(1-r^2)} \frac{1}{|\zeta_1 - r^2 z_1|^2}. \quad (21)$$

The proof of the lemma given in [6] contains the following formula

$$\frac{1}{2\pi} \int_0^{2\pi} \frac{d\vartheta}{|re^{i\vartheta} - z_1|^2 |re^{i\vartheta} - \zeta_1|^2} = \frac{2}{|1-\eta|^2} \left( \frac{1}{1-r^2} - \Re \frac{\eta}{1-\eta r^2} \right) \quad (22)$$

and a straightforward calculation yields

$$\frac{(1+r^2)}{(1-r^2)} \frac{1}{|\zeta_1 - r^2 z_1|^2} = \frac{2}{|1-\eta|^2} \left( \frac{1}{1-r^2} - \Re \frac{\eta}{1-\eta r^2} \right).$$

Now we see that (22) follows from Lemma 3.

$$u(z) = 2\Re \frac{z}{z - z_1 r^2} - 1 = \Re \frac{z + z_1 r^2}{z - z_1 r^2}$$

is a harmonic function for  $|z| > r^2$  and we obtain  $u(|z| = r) = (1 - r^2)/(|z - z_1|^2)$ . Using these we have

$$\begin{aligned} \frac{1}{2\pi} \int_0^{2\pi} \frac{d\vartheta}{|re^{i\vartheta} - z_1|^2 |re^{i\vartheta} - \zeta_1|^2} &= \frac{1}{(1 - r^2)} \frac{1}{2\pi} \int_0^{2\pi} u(|z| = r) \frac{d\vartheta}{|re^{i\vartheta} - \zeta_1|^2} = \\ &= \frac{1}{(1 - r^2)^2} \left( 2\Re \frac{\zeta_1}{\zeta_1 - r^2 z_1} - 1 \right) = \frac{1 + r^2}{1 - r^2} \frac{1}{|\zeta_1 - z_1 r^2|^2}, \end{aligned}$$

which is the desired result. The inequality mentioned in the lemma is an easy matter and is analogous (10).

## 6 A lower bound for $E_\zeta^z$

In this chapter we will show how we can obtain lower bounds for the expectation of the lifetime using only the monotonicity of the Green's function for plane domains.

**Theorem 3** *Let  $D$  be a simply connected domain in the plane with  $D_1 = \{z : |z| < 1\} \subseteq D \subseteq D_R = \{z : |z| < R\}$  then*

$$\sup_{z, \zeta \in D} E_\zeta^z \geq \sup_r E_{-r}^r \frac{G_{D_1}(r, -r)}{G_{D_R}(r, -r)} \geq \sup_r (-r^2 + 2 \ln(1 + r^2)) \frac{\ln \frac{1+r^2}{2r}}{\ln \frac{R^2+r^2}{2rR}},$$

where  $E_{-r}^r$  denotes the expectation for the life time of the unit disk for  $z = r$  and  $\zeta = -r$ . Equality occurs if and only if  $D = D_1$ .

**Proof.** We deduce

$$\sup_{z, \zeta \in D} E_\zeta^z \geq \sup_{z, \zeta \in D_1} E_\zeta^z \geq \sup_{z, \zeta \in D_1} \frac{\Gamma_{D_1}}{G_{D_R}} \geq$$

where the last inequality follows from the monotonicity of the Green's function and furthermore

$$\geq \sup_r \frac{\Gamma_{D_1}(r, -r)}{G_{D_1}(r, -r)} \frac{G_{D_1}(r, -r)}{G_{D_R}(r, -r)} \geq \sup_r E_{-r}^r \frac{G_{D_1}(r, -r)}{G_{D_R}(r, -r)},$$

which is the desired conclusion because

$$\begin{aligned} E_{-r}^r &= -r^2 + 2 \ln(1 + r^2) + \\ \frac{(1 - r^2)^2}{4r^2} \left( \ln^{-1} \left( 1 + \frac{(1 - r^2)^2}{4r^2} - \frac{4r^2}{(1 - r^2)^2} \right) \right) &\geq -r^2 + 2 \ln(1 + r^2), \end{aligned}$$

which was proven in Lemma 5.2 in [6].

## References

- [1] K. L. Chung and Zh. Zhao, *From Brownian motion to Schrödinger's equation*. Grundlehren Math. Wiss. **312**, Springer-Verlag, Berlin 1995.
- [2] M. Cranston, *Lifetime of conditioned Brownian motion in Lipschitz domains*. Z. Wahrsch. Verw. Gebiete **70** (1985), 335-340.
- [3] M. Cranston and T. R. McConnell, *The lifetime of conditioned Brownian motion*. Z. Wahrsch. Verw. Gebiete **65** (1983), 1-11.
- [4] A. Dall'Acqua, H.-C. Grunau and G.H. Sweers, *On a conditioned Brownian motion and a maximum principle on the disk*. J. d'Anal. Math. **93** (2004), 309 - 329.
- [5] A. Dall'Acqua: *On the lifetime of a conditioned Brownian motion in the ball*. J. Math. Anal. Appl. **335** (2007), 389 - 405.
- [6] B. Dittmar, *Local and global maxima for the expectation of the lifetime of a Brownian motion on the disk*. J. d'Anal. Math. **104**(2008), 59 - 68.
- [7] P. S. Griffin, T. R. McConnell and G. Verchota, *Conditioned Brownian motion in simply connected planar domains*. Ann. Inst. H. Poincaré Prob. Statist. **29** (1993), 229-249.
- [8] B. Kawohl and G. Sweers, *Among all two-dimensional convex domains the disk is not optimal for the lifetime of a conditioned Brownian motion*. J. d'Analyse **86** (2002), 335-357.
- [9] S. G. Mikhlin, *Lehrgang der mathematischen Physik*. DVW Berlin 1972.

## Reports of the Institutes 2010

**01-10.** Kristian Debrabant, Anne Kværnø, *B-series analysis of iterated Taylor methods*

**02-10.** Jan Prüss, Mathias Wilke, *On conserved Penrose-Fife type models*